2
o

ApTUKYN

HanmeHoBaHue

Kon

60100030000

bont

70040070000

LWaiba

70130350000

Hox

70140400000

ApanTtep

Bont M8x25

Bont M8x30

20660130000

KoXKyx pemHsa

kD\lO'\U'I-bUJNI—\l

Bont M6x12

=
o

larka

[y
[N

Kopnyc

[EEN
N

60410080000

MpyxunHa

[E
w

70180270000

TAara

=
S

Wrnot

SRR INRINIR]IRRR ]

[EEN
u

laiKa

[EEN
N

[E
)]

Bont M6x16

[EEN
~N

KpoHLwwTenH

=
co

909-402-007

[surateno T6

[EEN
o]

20460030000

BcTaBKa

N
o

20460010000

Wryuep

N
[

60370020000

Konbuo

N
N

BTynka

N
w

20160230000

3arayLlKa gna MyabuMpoBaHna

N
N

MnactvHa 3ybyaras

N
(0]

KpoHLWTEeNH npaBsbiii

N
(e)]

Bont M8x15

N
~N

70030060000

Ocb

N
(0]

60390070000

N
(\e]

20120080000

KpblwKa

w
o

20110100000

Oednexkrtop

w
=

MnactuHa

w
N

BuHT M6%10

NlRr|[Rr|R[R]R[NIRRRPIRIRIR|[R]FR|[R]|o

Mogenb

Ffa30HOKOCUKa

LM46-60DE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

P

agel




Ne ApTUKYN HanmeHoBaHue Kon
33 Lepxxatenb 1
34 160380600000 |Mpy*KunHa 1
35 [eTtanb 1
36 [eTtanb 1
Mogenb
Fa30HOKOCUKA
LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYN HanmeHoBaHue Kon
15 |90-0032 MogwnnHuk 4
38 Konnak 2
39 (20880161000 |Koneco 2
40 Konnak BHyTpeHHUN 2
41 BTtynka 2
42 LWaiba 2
43 |70840170000 [Ocb nepenHan 1
44 160320210000 [PemeHb Li660 1
45 MpyXunHa 1
46 (70050230000 [CKoba 1
47 170860370000 [PepykTOp 1
48 Wrnot 2
49 BTynka 2
50 LWalba 2
51 (60240060000 |Laiiba 6
52 LWecTtepHa npasan 1
53 MnactnHa 1
54 MnactnHa 1
55 LWecTtepHAa nesasn 1
56 Konnak 2
57 Koneco 2
58 Konnak 2
59 Ocb 3aaHAA 1
60 20270010280 |PykoAaTKa 1
Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




ApTUKYN

HanmeHoBaHue

Kon

71

Haknagka

72

70550100280

Pbiuar

73

Pyuka BepxHAA YacTb

74

20030030000

KpoHwTenH

75

Bont M6x30

76

[eprKatenb

77

MaiKka

78

20580020050

Pbivar

79

Wrnot

80

70220020000

LUToK

81

70050180000

dukcatop

82

70520210130

Pyyka HMXHAA

83

60040090000

Bont M8x30

84

Mpoknaaka

85

bapawek

86

60140080000

laiKa

87

20240020000

[eprKatenb

88

20040140280

bapawek

89

70810040000

Tpoc Topmosa

90

70780080000

Tpoc npueoaa

91

70050120000

Lepxxatenb

92

70540083280

Pbiyar

RIR[RrRr[N]R[BIN|BINRIMININMIN(RIRINMIR|RR R

Ffa30HOKOCUKa

Mogenb

LM46-60DE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

P

age 4




Ne ApTUKYN HanmeHoBaHue Kon
61 |20050080085 |[TpaBocbopHUK 1
62 Kapkac 1
63 LWanba 2
64 Ocb 1
65 (60380240000 |MpyKnHa 1
66 (20750070000 |MnaHKa 1
67 KpblwKa TpaBocbopHUKa 1
68 MNnactnHa 4
69 TpaBoCcOOPHMK BEPXHSAA YaCTb 1
70 (21010010290 |®PunbTp TPaBOCOOPHUKA 1
Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing
62 Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 5




94 95

ApTUKYN

HanmeHoBaHue

Kon

93

MaHenb ynpaBneHus B cbope

94

30050090000

3apAgHoe yCTponcTBo

95

AKKyMynaTopHasa 6atapesn

96

30010330000

MpepoxpaHuTenb

97

25190140000

Kpbiwka

98

30030030000

BbikntovyaTenb

Rk, R ]R

Ffa30HOKOCUKa

Mogenb

LM46-60DE

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTUKYN HanmeHoBaHue Kon
70 LWnunbKa KapbopaTopa M6x94 4
81 |75720100000 |MpoKknaaKa ronosku 1
82 Wrnot 2
83 KnanaH BbINyCcKHOM 1
84 KnanaH BNycKHoM 1
85 FonoBKa umanHApa 1
86 Bont M8x45 4
87 Cronop NpyXuHbl 2
88 Tonkartenb 2
89 LWanba 2
90 Ban Kopombicna 2
91 KpbiWwKa ronoskm 1
92 MNpoKnaaKa rofoBKu 1
93 KopombICno BbINYCKHOMO KianaHa 1
94 75230030000 |Kopombicno BNYCKHOTO KnanaHa 1
95 MpyXuMHa KnanaHa 2
96 |60360130000 |Konnayok macaoCbeMHbIN 1
97 |LR5YC Cseya 3axkuraHumsa 1
98 Koxyx rnywmurena 1
99 |75540120000 |Fhywutenb 1
100 PerynaTtop 1
101 bont M5x10 2
102 WuntokK rnywmnrena 1

Mogenb
Fa30HOKOCUKA
LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




Ne ApTUKYN HanmeHoBaHue Kon
3 MNpobKka TonansHoro 6aka 1
4 (80010070000 [CanyH 1
5 Mpoknaaka 1
6 |25250010000 |[Tpocuk 1
7 laiika M6 3
8 LWaiba 1
9 AmopTusatop 2
10 |{25180230000|baKk TONAMBHbIM 1
11 dunbTp 1
12 3axnm 1
13 {25160010000 |LLnaHr TonAnBHbIM 1
14 3axKum 1
15 BTynka 1
21 60360090000 [CanbHUK 22x35%x7 1
103 22 bont 3
23 bont M6x12 2
24 KpoHLwTenH 1
25 bont M6x18 3
26 bont M6x14 7
27 Y3en TopmosHom 1
28 LWaiba 3
29 160410770000 |Mpy»*u1Ha perynatopa 1
30 |75160060000 |Tara perynaTtopa 1
31 Ban perynaTtopa 1
32 CanbHuK 6x11x4 1
33 Wnanut 1
34 bont M6x23 1
35 Polyar perynatopa 1
36 laiika M6 3
37 3axnm 1
80 38 3acnoHkKa 1
Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 8




Ne ApTUKYN HanmeHoBaHue Kon
39 160410760000 |Mpy*KunHa 1
40 Bont M6x12 4
80 Kaptep 1
103 CTapTep aneKkTpuyeckuni 1
104 MNnactnHa 1
105 Mpoknaaka 1
106 Kpbiwka 1
107 MNpoknaaKa 1
108 |75370070000 [MarHeTto 1
109 bont M6x25 2
Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 9




Ne ApTUKYN HanmeHoBaHue Kon
1 Maiika M6 3
2 |75430110000 |CTapTep B cbope 1
16 Koxyx maxoBuKa 1
17 |60140050000 |raika M14x1.5 1
18 |75210010000 (XpanosuK ctaptepa 1
19 KpblnbyaTKka maxoBuKa 1
20 MaxoBuK 1
45 Wrnot 2
110 BMHT M5x25 4
111 Kosnbuo 3ybyaTtoe maxoBuKa 1
112 125190160280 [KpbiwKa gsuraTtens 1
Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 10




ApTUKYN

HanmeHoBaHue

Kon

41

LWarnba

42

Ta pPenka TonKaTenAd

43

Pacnpeagan

44

MpoKnaaKa KapTepa

46

75520020000

LLlectepHAa perynatopa

47

BTtynka

48

3aXKum

49

Ban

50

LWanba

51

75240120000

KpbiWwkKa KapTepa

52

60360100000

CanbHUK 25x38x7

53

Bont M6x30

54

60200150000

MNpoknaaKa

55

bont

56

KpoHLWwTenH

57

fopnosuHa

58

Bonat M6x50

59

25120060000

KpblwKa

60

25300120000

dunbTp BO3AYLIHLIN

61

KpblwKa

62

25110100000

Kopnyc Bo3gywHoro ¢puabTtpa

63

Tpybka

64

75730100000

MpoKknazKa Kopnyca

65

Kap6topaTop

66

Pblyar ynpasneHua

67

75730030000

MpoKknazkKa KapbtopaTopa

68

25090010000

Tennousonatop

69

75730020000

MpoKnaaKa Tena1on3onaTopa

71

75130130000

Konbuo nopwHesoe |

72

75130140000

Konbuo nopwHesoe Il

73

75090060000

Konbuo nopuwHesoe lll

N[Rr[Rr|Rr[R]R[Rr|R[Rr|R|R|R|R[R|IR[RR[R|R|N[R|R[R]|R[R|R[R]|R|R[N]|R

Ffa30HOKOCUKa

Mogenb

LM46-60DE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

Pa

gell




Ne ApTUKYN HanmeHoBaHue Kon
74 175000070000 |KonbLo nopwHesoe 1
75 160400020000 |KonbLo ctonopHoe 2
76 160310010000 [Manew, nopLuHA 1
77 175120090000 |NopweHb 1
78 |75460070000 |WaTyH 1
79 |75510750000 [KoneHsan 1
Mogenb
Fa30HOKOCUKA
LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 12




